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Figure 8. WKLS FM station RBDS subcarrier coverage for corridor 3, Atlanta.
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Figure 9. WRFG FM station STIC subcarrier coverage for corridor 3, Atlanta.

18




| . . i 1
[ = & I = = 1TS-TA Services
= = 5 ———— N =
ﬁ‘“‘ = = =ah = FM-RDS Subcarrier
— = = = Atlanta  GA
- = 2iNov05 154352

= > ——7R
s : = 35N
— B

Fleld IntensityldBuy/m
= o < = > e M"m
e = S 1 [ Grester then €000
= = {5 1 Area: 2580, sq ml

Populatiorr 1858000

Householde: T46000.

= -._u —x = i——— B 200000 to €000
= ZoT Areg: 15240. sq mi
- =~ e Pepulationr  1427000.
= = = L Households: 514000.
—— — BN ces than  28.0000
o = : Ares: 29540, sq mi
e T Populgtiont 2133000,
A T = Househalds: 793000.
1 T == T ‘ T T =
6w alﬁw Euldu B3N
o ___ % 50 75 100 125 150 175 200 MILES
Environment Threshold Signal Coverage Area
urban high-rise (>60dBu) 6,686 sq km = 2,580 sq mi
urban low-rise (29-60 dBu) 39,414 sq km = 15,210 sq mi
non-urban (<29 dBu) 76,547 sq km = 29,540 sq mi

(note: 322 km = 200 mi)
Figure 10. WRFG FM station RBDS subcarrier coverage for corridor 3, Atlanta.
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